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QUESTION 1

Which of the following actions do you need to acquire the current encryption settings for a database protected by native
encryption?

A. Select from the ADMIN_GET_ENCRYPTION_INFO table function

B. Run the db2ckbkp command and verify the compression settings

C. Checkthe encrypted database parameter in database configuration

D. Check ENCROPTS database configuration parameter for encryption options

Correct Answer: D

QUESTION 2

Automatic space reclamation for column-organized tables can be accomplished in which of the following scenarios?
A. When the registry variableDB2_AUTORECLAIMSPACE=YES

B. After termination all the back-end processes using TERMINATE command

C. After setting the database configuration parameter AUTO_DEL_REC_OBJ to ON

D. When the registry variable DB2_WORKLOAD=ANALYTICS prior to database creation

Correct Answer: C

QUESTION 3

An HADR environment has two standby databases ?one principal and one auxiliary. What is the only mode that can be
used to transfer data to the auxiliary standby?

A. SYNC

B. ASYNC

C. NEARSYNC
D. SUPERASYNC

Correct Answer: D

QUESTION 4
Which operation can be performed with trusted context privileges that are acquired through a role?

A. DML operations
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B. DDL operations
C. Server maintenance operations
D. Security administration operations

Correct Answer: A

QUESTION 5

When choosing the dimensions for an MDC table, poor space utilization can occur due to low cell density. What can
cause an MDC table to use much more space?

A. The page size is too small.

B. The extent size is too small.

C. Low cardinality of the dimension(s) chosen.
D. High cardinality of the dimension(s) chosen.

Correct Answer: D
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